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Year 5 Arithmetic Test 16 

÷ 

1 

 
1 mark 

2 

 

 

3 

1 mark 

1 mark 

   1027  +  84  = 

   8,863  -                 =  8,163 

  22  x  0  = 

NAME:______________________________ 
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4 

 
1 mark 

5 

 
1 mark 

6 

 
1 mark 

                    +  9  =  803 

                    =  672  -  37 

   56  ÷  7  = 
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4 
5 6 1 mark 

1 mark 7 

 
1 mark 

8 

 
1 mark 

9 

 
1 mark 

   

                 =  8,726  +  947 

   84  x  4  = 

 3 

4
  +   

2

4
  = 
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10 

 
1 mark 

11 

 
1 mark 

12 

 
1 mark 

   483  ÷  7  = 

 3 

7
   −    

6

7
  = 

 

   80  x  50  = 

2 



Page 5 of 12 
 

  

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

13 

 
1 mark 

14 

 
1 mark 

15 

 
1 mark 

   42  ÷  100  = 

   ²    30%  of  50  =  

   27  -  13.09  = 
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16 

 
1 mark 

17 

 
1 mark 

18 

 
1 mark 

   3   +  5   = 

   8,000  -  700  = 

   58%  x  400  = 

2 3 
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19 

 
1 mark 

20 

 
2 marks 

21 

 
1 mark 

 2 

7
  x   

2

3
  = 

 

   54.5  -  38.19  = 

Show 
your 

method 

      8     6    1    6     
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22 

 
2 marks 

23 

 
1 mark 

24 

 
1 mark 

 2 

6
  +         

3

7
  = 

 

 6    4    5 

 x           9    6 

   6  +  9  ÷  3  = 

Show 
your 

method 

2 1 
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25 

 
1 mark 

27 

 
1 mark 

 1 

6
  ÷     

 

   717  +                      =   1,483 

  4  = 

26 

 
2 marks 

 8    9    4 

 x           6    3 

Show 
your 

method 
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28 

 
2 marks 

2    4     1    1    2    8    
Show 
your 

method 
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30%  of  50   =  15 

ANSWERS 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1  
1 mark 

2  
1 mark 

3  
1 mark 

4  
1 mark 

5  
1 mark 

6  
1 mark 

7  
1 mark 

8  
1 mark 

9  
1 mark 

10  
1 mark 

11  
1 mark 

12  
1 mark 

13  
1 mark 

14  
1 mark 

   1,027  +  84  =  1,111 

   8,863  -        700        =  8,163 

   22  x  0  =  0 

    794      +  9  =  803 

   635      =  672  -  37 

   56  ÷  7  =  8 

   9,673     =   8,726  +  947 

=+ 

   84  x  4  =  336 

   483  ÷  7  =  69 

 3 

7
   −    

6

7
  = 

 

11

7
  

 

   80  x  50  =  4,000 

    42  ÷  100  =  0.42 

 3 

4
  +   

2

4
  = 

 

5

4
  

 

or equivalent  

or equivalent  
1

4
  

 

1 

 

or  

2 
4

7
  

 

or 1 
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15  
1 mark 

16  
1 mark 

17  
1 mark 

18  
1 mark 

19  
1 mark 

20  
2 marks 

21  
1 mark 

22  
2 marks 

23  
1 mark 

24  
1 mark 

25  
1 mark 

26  
2 marks 

27  
1 mark 

28  
2 marks 

   27  -  13.09  =  13.91 

   3   +  5   =  52  

   8,000  -  700  =  7,300 

   58%  x  400  =  232 

 2 

7
  x   

2

3
  = 

 

4

21
   

 

or equivalent  

   1,106  ÷  14  =  79               up to 1 mark for 1 error 

   54.5  -  38.19  =  16.31 

 

   645  x  96  =  61,920            up to 1 mark for 1 error 

   6  +  9  ÷  3  =  9 

 2 

6
  +         

3

7
  = 

 

 158 

42
  

 

or equivalent  

 1 

6
  ÷         = 

 

 1 

24
  

 

or equivalent  

   894  x  63  =  56,322 

   717  +     766      =  1,483 

   1,128  ÷  24  =  47 

2 

 4 

or         
 16 

21
   

 

3 

1 2 3 


